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Chaque ballon fait un
saut différent :
- le premier fait un saut
de 2 méetres
- le dernier fait un saut
de 10 metres !

1 oARIsecpEDe




b\

b\

1X 3

4X3

12 1N

0X3

18 m



., ©316003@

Chaque ballon fait un
saut différent :
- le premier fait un saut
de 2 méetres
- le dernier fait un saut
de 10 metres !
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Chaque ballon fait un
saut différent :
- le premier fait un saut
de 2 méetres
- le dernier fait un saut
de 10 metres !
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Chaque ballon fait un
saut différent :
- le premier fait un saut
de 2 méetres
- le dernier fait un saut
de 10 metres !
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Chaque ballon fait un
saut différent :
- le premier fait un saut
de 2 méetres
- le dernier fait un saut
de 10 metres !
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